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Key Partners
Who are the key partners that

&

need to be involved?

Farmers

Tourism

Key Activities
What activities does the key

objective require?

industry

Key Resources

What resources does the key
objective require?

Cost structure

Key Objective

Which problems does your initiative

&

solve? What value is delivered?

Lack of
awareness of the
impact of
seasonal activity
on the
environment

Aware
community of
islanders & island
lovers ready to
act

What are the main costs associated with your initiative?

Revenue

o)

Engagement

What type of relationship can be
established with the stakeholder
groups and customer segments?

@

Channels

Through which channels can they
be reached?

What are the sources of revenue?

Key Stakeholder Groups
and Customer Segments

For whom is value created? Who

benefits from this transition model?

Islanders

Tourists

Social impact
What social impact does your initiative have?

v

Environmental impact
What environmental impact does your initiative have?

O

AAAAAAS
AAAAAAAS

Other notes: losing money from tourism, ferrari drivers, no consciousness, too long process, nobody cares?



ISLANp-w/pg
STORAGE

Key Partners
Who are the key partners that
need to be involved?

- TS0

- Regulators

Key Activities
What activities does the key
objective require?

Key Resources
What resources does the key
objective require?

Cost structure

What are the main costs associated with your initiative?

solve? What value is delivered?

Storage secures energy
when wind and solar
are fluctvating in
production

Help handle
seasonality/tourism

Key Objective Engagement

Which problems does your initiative gﬁ What type of relationship can be @
established with the stakeholder

groups and customer segments?

Channels

be reached?

Through which channels can they ﬁ

Key Stakeholder Groups 'Y
and Customer Segments "'....‘.

For whom is value created? Who
benefits from this transition model?

- Consumers

- Energy Communities

- Energy System Pesign
Contributors

Revenue

_Q What are the sources of revenue?

Pepends from island to island; techno-economic cost analysis needed Ex

Exemption to legislation for islands can reduce costs

Tourist Taxes

Social impact
What social impact does your initiative have?

v

Energy Poverty

Job creation

Citizen empowerment (independence from price dictate)

Environmental impact
What environmental impact does your initiative have?

O

AAAAAAS
AAAAAAAS




NEIGHBOUKHOOV
STORAGE

Key Partners Key Activities Key Objective Engagement Key Stakeholder Groups 'Y
Who are the key partners that What activities does the key R k Which problems does your initiative What type of relationship can be @ and Customer Segments .. ..
need to be involved? objective require? v solve? What value is delivered? established with the stakeholder ".'.

groups and customer segments?

For whom is value created? Who
benefits from this transition model?

Problems it solves

- Utilities
- agaregator 1. High eneray - Grid operators
- university/academia T - Technology Providers
- PS0s - EV owners
= Naffo.nall EV level 2. System developed - land owhers
decisionmakers by individvals - Energy agencies
- funding organisations - Local investors
- local investors (companies)
. Key Resources /@\ - 3, Minimise energy Channel; N
- fechnology providers What resources does the key X Through which channels can they 3 - Local authorities
objective require? @_,@ pl’OdUGflOVl 0031- be reached? -
. - Local generators
4. Interaction between (community initiatives)
neighbouring
communities and the - Individual households
grid

- Housing Associations

Cost structure B Revenue
What are the main costs associated with your initiative? _ 'Vlves"'men'l' cosfs i_Q What are the sources of revenue? - G-l’id O:Ilel"l-a.‘ror '(:e :k S:Ving)
- Marginal costs ) ationat by g.e
- Savings from fossil fuels
Social impact - Confidence - Grid stability
What social impact does your initiative have? . A
- Ecotourism/Energy tourism - Energy security
v - Energy/Transportation cost reduction - Local jobs

Environmental impact ¢ it t1 . tal icet
What environmental impact does your initiative have? ommitmen 0 more environmentia pt'Ojec S

Q@ Air quality

I Health




KEVUCE CONSUMPTION
(households)

Key Partners Key Activities Key Objective Engagement Key Stakeholder Groups 'Y
Who are the key partners that What activities does the key R k Which problems does your initiative g What type of relationship can be @ and Customer Segments '.'...'..
| |

need to be involved?

objective require?

solve? What value is delivered? established with the stakeholder

For whom is value created? Who
groups and customer segments?

benefits from this transition model?

- Utility companies Lifestyle change

- housing companies
- homeowners

(Reduce, reuse

- Regional & local

authorities ete.) - owner associations
- property owners
- Energy agencies Key Resources @ Channels - schools and students
What resources does the key { \ . Through which channels can they ﬁ
objective require? @w@ |hct’8 as‘"g be reached?

energy
efficiency in
houses
Cost structure . Revenue . - Offset bill f
What are the main costs associated with your initiative? - Me-l-ers 1'0 dO fhe fes-l-in EQ What are the sources of revenue? - Kelmbursemenf 1.0 people sets on e"ergy ! or
\ g = who show that they have efficiency improvements
- Costs for energy efficiency measures made efficiency - Tax system for ener
- Financial rewards for "good behaviour” ﬁ . Y 9
improvements use
Social impact - Energy poverty and impact of raised prices - Health effects
What social impact does your initiative have? . . . . . .
v - Life cycle impacts in relation to energy savings - A sense of security
- Mental comfort of contributing - Sense of community through doing joint projects

Environmental impact
What environmental impact does your initiative have?

O

AAAAAAS
AAAAAAAS

Energy efficiency savings shouldnt be used to buy more items/appliances just because they are energy efficient
Pepends on materials and technologies




KEVUCE CONSUMPTION
(households)

Key Partners Key Activities Key Objective Engagement Key Stakeholder Groups 'Y
Who are the key partners that What activities does the key R k Which problems does your initiative g What type of relationship can be @ and Customer Segments '.'...'..
| |

need to be involved?

objective require?

solve? What value is delivered? established with the stakeholder

For whom is value created? Who
groups and customer segments?

benefits from this transition model?

- Utility companies Lifestyle change

- housing companies
- homeowners

(Reduce, reuse

- Regional & local

authorities ete.) - owner associations
- property owners
- Energy agencies Key Resources @ Channels - schools and students
What resources does the key { \ . Through which channels can they ﬁ
objective require? @w@ |hct’8 as‘"g be reached?

energy
efficiency in
houses
Cost structure . Revenue . - Offset bill f
What are the main costs associated with your initiative? - Me-l-ers 1'0 dO fhe fes-l-in EQ What are the sources of revenue? - Kelmbursemenf 1.0 people sets on e"ergy ! or
\ g = who show that they have efficiency improvements
- Costs for energy efficiency measures made efficiency - Tax system for ener
- Financial rewards for "good behaviour” ﬁ . Y 9
improvements use
Social impact - Energy poverty and impact of raised prices - Health effects
What social impact does your initiative have? . . . . . .
v - Life cycle impacts in relation to energy savings - A sense of security
- Mental comfort of contributing - Sense of community through doing joint projects

Environmental impact
What environmental impact does your initiative have?

O

AAAAAAS
AAAAAAAS

Energy efficiency savings shouldnt be used to buy more items/appliances just because they are energy efficient
Pepends on materials and technologies




Key Partners Key Activities Key Objective Engagement Key Stakeholder Groups Y
Who are the key partners that What activities does the key N k Which problems does your initiative What type of relationship can be @ and Customer Segments 00,
need to be involved? objective require? v solve? What value is delivered? established with the stakeholder For whom is value created? Who ".'

?
&oups and customer segments? benefits from this transition model?

Save the
planet

-

Save money

Public

Key Resources
What resources doe
objective require?

Authorities

Channels

Through which channels can they
be reached?

s the key

< 20kw

Wind
Turbines

What social impact does your initiative have?

v

Cost structure Revenue
What are the main costs associated with your initiative? What are the sources of revenue? - cichIar economy
30-10 EUR / kWh - 4 year period until you earn revenues
370 EUR / MWh (Italy) - Savings from electricity purchase
Social impact - enerqy quality vs price

- demand-side management
- visval impact (historical buildings)

Environmental impact
What environmental impact does your initiative have?

O

AAAAAAAS
AAAAAAAS
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TRANSPORT
FROM 1 ISLANp

Key Partners
Who are the key partners that

Key Activities
What activities does the key
objective require?

Key Objective

Which problems does your initiative

Engagement
What type of relationship can be
established with the stakeholder

&

need to be involved? solve? What value is delivered?

&

groups and customer segments?

- Island organisations - Lower e'.‘ergy
- Ferry companies consumption
- Islanders
- Tour operators _
- Electricity providers/ l"c.mase
producers efﬁclency

- State regulatory (incl.

environmental) agencies
- Local & national authorities

Key Resources

What resources does the key
objective require?

Channels

Through which channels can they
be reached?

- Save money

- Reduce noise

Key Stakeholder Groups
and Customer Segments

For whom is value created? Who

benefits from this transition model?

- Businesses

- Islanders
- other passengers

- Ferry companies

pollution
Cost structure . Revenue . . .
What are the main costs associated with your initiative? i_q What are the sources of revenue? PUbhc’prlva‘te pa”"erShlps
- . . - Subsidies / EU - Envi
Provision of funding to develop ferries EB ‘ Environment surcharge
- kares -
Ferry development Surcharge for cars
Social impact

What social impact does your initiative have?

v

If you have a more efficient ferry service you will keep people

Environmental impact

What environmental impact does your initiative have?

O

AAAAAAS
AAAAAAAS

Less €02
Less noise pollution
Less waste into the sea




(househgjqq)

Key Partners Key Activities Key Objective Engagement Key Stakeholder Groups 'Y
Who are the key partners that What activities does the key R k Which problems does your initiative What type of relationship can be @ and Customer segments .. .O
need to be involved? objective require? w solve? What value is delivered? established with the stakeholder ".'.

groups and customer segments?

For whom is value created? Who
benefits from this transition model?

SUN
- Grid companies (PSOs)
Incentivise more .
- Companies that can consumers to G‘I’ld
install the household production comp anies
systems

Key Resources
N

What resources does the key

Channels E
. . Through which channels can they ¢
objective require? @_,@ Leg|3|a‘h0“ be reached?

(change
distribution
issue between

houses)

g:astt::::ecrtn‘::\ecosts associated with your initiative? E'Q ::::e:eu:e sources of revenue? you Skip the bill (aVOided cosfs) - Orowd—funding projecfs (for
o S - Financial support to invest upfront what  communities or less wealthy
- Should pay by tax and v!o.’f by consump’nov.l. you will save in the coming years (by people)
- Who pays for the electricity fed to the grid? whom? EU?) - Social banks/social funds
- Who pays the bill of the utilities (only those who have not invested in their houses?) - Micro-funds

Social impact
What social impact does your initiative have? Energy justice: Could be good for those that can afford it, but not a given that everybody will be able to do it

v Local jobs

Environmental impact
What environmental impact does your initiative have? Less 002, less harmful emissions

QQ Sustainably solar panels produced in the EV (to avoid shipping emissions)

AAAAAAS
AAAAAAAS




N: CONSUMPTION
Publie buildings)

Key Partners
Who are the key partners that

Key Activities

What activities does the key
objective require?

&

need to be involved?

- aggregator
- unhiversity/academia
- PS0s
- National/EVU level

decisionmakers

- funding organisations
- local investors

- technology providers

Key Resources

What resources does the key
objective require?

Key Objective
Which problems does your initiative
solve? What value is delivered?

Engagement

What type of relationship can be
established with the stakeholder
groups and customer segments?

Key Stakeholder Groups
and Customer Segments

For whom is value created? Who

& i

benefits from this transition model?

Reducing
energy needs
and costs Organizations
Channels Citizens
Incre ase ::rroe:gc:::;ich channels can they ﬁ
energy
efficiency

Cost structure

What are the main costs associated with your initiative?

- knowledge (analysis of situation)
- technology & implementation

- training
- maintenance

‘ Revenue
a_q What are the sources of revenue? - s aVI"g s - faxes
EB - funding - bans

Social impact
What social impact does your initiative have?

v

- job creation

- ehergy security

- preventing demographic imbalance

- make funds available for social needs

- health benefits
- "prosumers’
- reduce fossil fuel dependency

Environmental impact

What environmental impact does your initiative have?

O3

AAAAAAS
AAAAAAAS

Reduction of the consumption of material resources




